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{tu2rlbtnnr
urup{ru ullqp[g
i[r02L hur2{hunr
utduuplufu l-12

Lulunp4 utup{ru
uUqphg rth0!'

0urlung4 nuprlru
0nr10 druilru0u-
trurnour0n 1-12

Sn\nuru;fr0 tr 0rir.u0uurlrq btrurlnun0bn 31,161 ){ ot{ t12.451 96,457
SnLnuruth0 L 0rlur0uurhu drufuuLn (7.994\, (3,667) (25.t07 (12.634\

9mm rnnhnuurrh0 btrullmrn 23-167 22.258 87.344 83,823
knilhuhn0 t u.lt rl6run0bnh urbupnrl buruilnrur0hn 4.828 2.292 l I,655 7.053

t-lnrlhuhn0 L urr r]6run0hnh ubupnil durfuuhn G2 (23) fl 56t (7 s)
Jpurupdnrprul|r0 qnnlunp Obnhq umurq rl ub q nrur ruhnr I B/ (d Ouu 3.914 2;150 367 (8)

U31 qnp0 run0urllu0 bllr.urlnrur I 105 3.1 73 28,029 24,149
clnpbrun0ur! ru 0 bU ullntn 10.095 8-192 39.895 3 l.l l9

1!qpUhnhS L rujl rfrnfuunnrprnrO0bpfrq unugruqud tnnnruurOhn 20,5 18 41.480 24,106 (40.083)
Q04hru0nrp rlruplrulru0 drufuubp (12.317) (1 5,346) (84.98 r' (65,435)

Uj1 qnpbrunOurlru0 bufuubn (3,839) fl2.806) (9-524) (r2.709',
Curhnlp rlh0rL hurnUrlbrn 37.624 43,778 56.840 (3.285

CruhnrpLuhrupllr qdnr.l bufuu /rfrnfuhrutnnrqnril/ I 1.368' (8.7561 I 1.368) 657',,
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(ut2tlbu{nrp1tuO r{nrr{bprugrlu0 ur0urupfr{p 1 0.01 .201 8p.
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UU.LULnFUe
{tu2tlbtnnt

durilu0rulur2p2ru0
lrupryt4

drurftu0ru[ur2pptu0

U\urbrl0htr
l.l rLpurhu\Lu0 rlf gng 0bp t p tu0\tu;|r0 hru2fr{Obp I tJ 7,862
t.2 FUl\hpnui ub4urpru2fu {urd dfrgng0bp 4,839
l.J (tudrufu np4OhplrO urprlu& rlun[bn t u11 rlrnfuruurlmplnr00hp 936,228 574,140

t.4
uruqluuul hhprlpnrdbhp purh\f hfilLu\uL dfr2nghhpmrl h n2 Llnr_pu\rutr
u\uf{Lhpnul 5,622 6,599

1.5 .lutdunpf hur.irup qurh{nr1 n2 ptrpuglr\ ur\rnhrltrhp 44-500 20,225
1.6 {hri0ru!u0 ilfpngtibp [r n) 0:nrBuUru0 uUurhrlObn s9.210 64,457
t.7 2huru&q{u:b htu p\iu1 frb u! Lnf {Lhp 24.097 24.096
1.8 U utrug r{b1]lp ul n11 nu0b Jr 5,793 I.JIJ
1.9 U:t ruILnh{0bn 48.689 )A 01)

C 64ut tl h 0 p' u Q ult tt 0 bp t,124,9t2 736.563
2 alupulurlnpmplm00h1r

2.1 {u6Lufunp4l.it,pfrg 0bpqpLur.lr.lrud rfrn[ur"unnrp1nr00bp 490.069 t62,307
2.2 alupur.u{npnrpjni00bp {( \Lunr"urlrupnrpluti 0[uurdrurlp 1.843 1,450
L.) {tup&u.r\ulnrp3rutr qbntl {duprlbfrp qnuituptrhp
1^ alLuhnLurn[.ibp

t.> tl.6Lun{bthp mn!nu0bp t,236 443
2.6 U1i qupurr-u{npnrpjnr0[ihp 8,993 6.432

e 0 4 u rI b 0 p' t4 tup u tu { np a ry1 n fi 6 bp 502.141 170,632
J kruufrulu

3.1 Qru0n0u4pruIru0 \uq]nnru1 600,000 600.000
J.Z -pugnrg lrt rldruprlrud hulqFmul 30.190 30,190
J.J trnruru!{rub 2ruhnrjp (7,4r9',, (64.2s9

C 0 4tu tIh 0 p' Q tutq/t a u 1 622-7tl 565.931
Q64urIb lip' t4tupw ut{npnry1nfi 0bp I' lttuuthn ut 1,124,9r2 736,s63
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1. rlptu0ul4ru0 0fgngObpfr qnrtn hnupbp qnpOurn0rul.lur0 qnp0nr0bnrplnrfifrg
(6,616) 51

npu[wQw0 [fignghbpfi qntn hnupbp rlltL2t qnpdtanhwQtu? wQnfi(hbplt tt
uwnnwd nnn t Btn t 0 0 bnh rhnthnfu n rcrn fu n 33,943 50,045
Umulgrlu,rd mn!nu0bp 54.417 84,1 66
.tAurptlud mnlnu0bn 11,147\ (19,185)
Jmurgr{Lud qnrm t.1ndf uf n0 qnrdruptrbp 5,435 9,664
{6 up rltud ur2 fu u u ur tlrupd tr 4p u tr h ru{ ur u u p bg r{ urd u1 1 t{6ur p n r rJ 0 bp n4.429\ (24,630)
{dtupr{rud hurp!bp (332) 30
4pwtlwQtu0 tlfignghbpfi qntn hnupbp qnpdwnhuQu? wQufi(hbplt L
Uun a wl nn n rcn t 0 0 bnh thn thn fu n r Drn t t b nhd (40,560) (49,9e4)
Jurlupu2[ur{ud r]f 9n g0bp[ 0rluqnrrl (ruqblrugn Ld) 158,843) (355,879)
;bpqpLur{r{tud dhgngObpfr ut{blugnrd (0{urqnLf ) 1 18,646 313,614.}prudlu!tu0 Uhgng0bph qnru hnuBbp ru11 qnpdurn0ullu0 qnpdnr0bnrplnr0frg

(JoJ) (7,72e)
2. npudurl4u0 Uhgng0bph qnrrn hnupbp 0bp4pnrdur.;f 0 qnp6nr0hnrplnr0frg

6,512 470
(f d0ru!ru0 rJhgng0bpfi L n1 0lnrpru!ru0 uQurirr{trbpfr dbnppbpnLr) 878 70
Ztrdhur\ ub rif 2ngh hpfr h n2 bl n r-pru \r.utr ur\rnfufrtpfr or.nr,upnr-d 5,634 400
3. rlptr0rut4rutl rlhgngObph qntr,n hnupbp gfr(rurOuurt4u0 qnpdnr0bnrplnr0frg

875 1,578
Upurupdnrlpfr rfrnlurupdhplr {rnr}rnfunr-pluL urq4hgni-plnrhp 4purilru\urL rtlrgngLhnll-
nnurhq hulfundhphhnh rlnru 875 1,578
npuf ru!ru(l rJhgng0bph qnrr.n hnup 770 2.099

rlpru0rul.1r.u0 dfrgng0bp L 4pru0g hurlLupdbpObp drudur0ut.1r"u2pgru06 uqqpnrU
2,Q62 2,832
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2,832 733
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